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B.Com. 3rd Semester (Honours) Examination, 2019-20

COMMERCE

Course ID : 31212 Course Code : BCOMH-302C-6

Course Title: Management Accounting

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û±“‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) State any one technique of Management Accounting.

¬Ûøı˛‰¬±˘Ú ø˝¸±ı ı˛é¬ÀÌı˛ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂À˚˛±· Œfl¬Ã˙˘ Î¬◊À{°‡ fl¬Àı˛±/

(b) What is Mixed or Composite ratio?

ø˜| ı± ¸— ≈̊Mê ’Ú≈¬Û±Ó¬ fl¬±Àfl¬ ıÀ˘∑

(c) What is Turnover ratio?

’±ıÓ«¬Ú ’Ú≈¬Û±Ó¬ fl¬œ∑

(d) What is Net working capital?

øÚÈ¬ fl¬±˚«fl¬ı˛ ”̃̆ ÒÚ fl¬œ∑

(e) What is Cash flow statement?

Ú· √õ∂ı±˝ øııı˛Ìœ fl¬œ∑

(f) Indicate two points of difference between Management Accounting and Financial Accounting.

¬Ûøı˛‰¬±˘Ú ø˝¸±ıı˛é¬Ì › ’±øÔ«fl¬ ø˝¸±ıı˛é¬ÀÌı˛ ˜ÀÒ… ≈øÈ¬ ¬Û±Ô«fl¬… øÚÀ«˙ fl¬Àı˛±/

(g) What is Fund?

Ó¬˝øı˘ fl¬±Àfl¬ ıÀ˘∑

(h) What is Financial statement analysis?

’±øÔ«fl¬ øııı˛Ìœ øıÀù≠¯∏Ì fl¬œ∑
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2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Discuss the function of Management Accounting.

¬Ûøı˛‰¬±˘Ú ø˝¸±ıı˛é¬ÀÌı˛ fl¬±Ê&ø˘ ıÌ«Ú± fl¬Àı˛±/

(b) Discuss the limitations of Ratio analysis.

’Ú≈¬Û±Ó¬ øıÀù≠¯∏ÀÌı˛ ¸œ˜±ıX¬Ó¬±&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(c) ‘Depreciation is a source of fund’— Give any three argument in favour of this statement.

ë’ı‰¬˚˛ ˝˘ Ó¬˝øıÀ˘ı˛ Î¬◊»¸íñ ¤ı˛ ¬ÛÀé¬ Œ˚ Œfl¬±ÀÚ± øÓ¬ÚøÈ¬ ≈̊øMê ±›/

(d) Point out the difference between Cost Accounting and Management Accounting.

¬Ûøı˛ı…˚˛ ø˝¸±ıı˛é¬Ì › ¬Ûøı˛‰¬±˘Ú ø˝¸±ıı˛é¬ÀÌı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬Àı˛±/

(e) From the following Balance Sheet of Maity Trading Company Ltd. prepare a statement

of changes in working capital.

øÚ•ßø˘ø‡Ó¬ Maity Trading Company Ltd.-¤ı˛ Balance Sheet ˝˝◊ÀÓ¬ fl¬±˚«fl¬ı˛ ˜”˘ÒÚ ¬Ûøı˛ıÓ«¬ÀÚı˛

øııı˛Ìœ √õ∂dÓ¬ fl¬Àı˛±/

Balance Sheet as at 31st December.

2017 2018 2017 2018

Liabilities (`) (`) Assets (`) (`)

Eq. Share Capital 20,000 25,000 Goodwill 3,500 2,500

Reserve 5,300 7,750 Land & Building 7,500 8,000

Profit & Loss A/c 3,000 2,500 Plant & Machinery 9,000 22,500

6% Debenture 5,000 10,000 Stock 12,000 11,500

Sundry Creditors 4,500 7,250 Sundry Debtors 4,000 3,500

Bills Payable 1,700 2,500 Bills Receivable 3,500 7,000

Total 39,500 55,000 Total 39,500 55,000

˝◊—ı˛±Êœ √õ∂ùü ^©Üı…/



(f) With the help of information given below calculate

øÚ•ßø˘ø‡Ó¬ information-¤ı˛ øˆ¬øMÀÓ¬ øÚÒ«±ı˛Ì fl¬Àı˛± –

(i) Share Capital ïŒ˙˚˛±ı˛ ˜”˘ÒÚó

(ii) Total Current Assets ïŒ˜±È¬ ‰¬˘øÓ¬ ¸•ÛøMó

(iii) Sales ïøıSê˚˛ó

Gross Profit Ratio 25%

Sales to Inventory Ratio 10

Fixed Assets/ Total Current Assets 5/8

Fixed Assets/ Share Capital 5/4

Fixed Assets ` 8,00,000

Closing Stock ` 80,000

˝◊—ı˛±Êœ √õ∂ùü ^©Üı…/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) (i) Discuss the advantages of Management Accounting.

¬Ûøı˛‰¬±˘Ú ø˝¸±ıı˛é¬ÀÌı˛ ≈̧øıÒ±&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

(ii) What is Profitability Ratio? Give three examples of Profitability Ratio. 6+4=10

˜≈Ú±Ù¬± Œ˚±·…Ó¬± øÚÀ«˙fl¬ ’Ú≈¬Û±Ó¬ fl¬œ∑ ˜≈Ú±Ù¬± Œ˚±·…Ó¬± øÚÀ«˙fl¬ ’Ú≈¬Û±ÀÓ¬ı˛ øÓ¬ÚøÈ¬ Î¬◊±˝ı˛Ì ±›/

(b) From the following information prepare Cash Flow Statement for the year ended

on 31/12/2018 as per AS-3

Balance Sheet as at 31/12/2017 and 31/12/2018

2017 2018 2017 2018

Liabilities (`) (`) Assets (`) (`)

Capital 1,50,000 1,75,000 Land & Building 1,10,000 1,50,000

Bank Overdraft 1,60,000 1,00,000 Plant 2,00,000 1,40,000

Bills Payable 50,000 40,000 Inventory 50,000 45,000

Sundry Creditors 90,000 1,25,000 Debtors 70,000 80,000

Cash in hand 20,000 25,000

Total 4,50,000 4,40,000 Total 4,50,000 4,40,000
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(i) Net Profit for the year 2018 amounted to ` 50,000.

(ii) During the year, a plant costing ` 25,000 (Accumulated depreciation ` 10,000) was sold

for ` 13,000.

(iii) The Provision for depreciation against plants as on 31/12/2017 and on 31/12/2018 was

` 50,000 and ` 85,000 respectively.

˝◊—ı˛±Êœ √õ∂ùü ^©Üı…/
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